
Library : BVC version of 01/18/2016 Edition
Creation
Modification

FX10394
FX10394
FX10394

07/07/2016
20/06/2016
07/07/2016DTM : 2-01-02 DTE : 2-01 D3 WA +10

Verification FX10394 07/07/2016

21637-00831-MPE
BOM Number

Revision
-

07/07/2016

Page
1/3

LIST OF DOCUMENTS

Pédales de sécurité

ITEM DOCUMENT REV SHEET DESCRIPTION

COMPLETE ASSEMBLY DRAWINGS :

21637-00830-MPE - 1 Pédales de sécurité

DETAIL DRAWINGS :

4 21637-00832-MPE - 1 Support Pédales
3 21637-00834-MPE - 1 Capot de protection
2 21637-00835-MPE - 1 Tole de protection pour pédale
1 21637-00836-MPE - 1 Pédale



Library : BVC version of 01/18/2016 Edition
Creation
Modification

FX10394
FX10394
FX10394

07/07/2016
20/06/2016
07/07/2016DTM : 2-01-02 DTE : 2-01 D3 WA +10

Verification FX10394 07/07/2016

21637-00831-MPE
BOM Number

Revision
-

07/07/2016

Page
2/3

LIST OF MANUFACTURED PARTS

Pédales de sécurité

COMPLETE ASSEMBLY DRAWING : 21637-00830-MPE

ITEM DOCUMENT / ITEM REV Qty
NOTE / PART NUMBER / COUNTRY CODE / DOCUMENT

OBSERVATION / COMMENTS

1 21637-00836-MPE - 1 Pédale

2 21637-00835-MPE - 2 Tole de protection pour pédale

3 21637-00834-MPE - 1 Capot de protection

4 21637-00832-MPE - 1 Support Pédales



Library : BVC version of 01/18/2016 Edition
Creation
Modification

FX10394
FX10394
FX10394

07/07/2016
20/06/2016
07/07/2016DTM : 2-01-02 DTE : 2-01 D3 WA +10

Verification FX10394 07/07/2016

21637-00831-MPE
BOM Number

Revision
-

07/07/2016

Page
3/3

LIST OF COMMERCIAL PARTS

Pédales de sécurité

COMPLETE ASSEMBLY DRAWING : 21637-00830-MPE

ITEM CODE Qty TECHNICAL DESIGNATION / PART NUMBER / COUNTRY CODE /
MANUFACTURER / REFERENCE / NOTE / OBSERVATION / COMMENTS

5 C-BMA42-37304-COM 2

Foot switch restart, 1 step (2 positions) connecting in terminal
Part number : BMA4237304
Manufaturer (1): SIEMENS
Manufacturer ref (1): 3SE2902-0AB20
Manufaturer (2): STEUTE
Manufacturer ref (2): 1048458
COMPONENT STATUS : STANDARDIZED

6 C-BMA42-30222-COM 4

Galvanized threaded rod. type HAS M8x80/14 + Capsule chemical.
HVU M8x80
Part number : BMA4230222
Manufaturer (1): HILTI
Manufacturer ref (1): 066001 + 00256691
COMPONENT STATUS : TOLERATED

7 C-00033-77397-DFP 2

Ball transfer unit with spring clips cover and housing galvanized, with
lubrication pad, ball diameter 15mm, housing diameter 31mm, overall
high 20,5mm, laod 50daN
Part number : 3377397
Manufaturer (1): REXROTH BOSCH GROUP
Manufacturer ref (1): R053611510
COMPONENT STATUS : STANDARDIZED

8 C-000W3-00392-DFP 4

Screw countersunk socket head M10x20 quality 8.8
Part number : W300392
Manufaturer (1): No Manufacturer Specified
Manufacturer ref (1): W300392
COMPONENT STATUS : MAINTENANCE USE ONLY

9 C-000V9-5055X-DFP 8

screw countersunk socket head NFE 27-160 - M5 x 12 - 10.9
Part number : V95055X
Manufaturer (1): No Manufacturer Specified
Manufacturer ref (1): V95055X
COMPONENT STATUS : STANDARDIZED

10 C-000H0-07604-COM 2

Base iron bearing, self-aligning bearing with eccentric clamp ring,
diameter 15 mm
Part number : H007604
Manufaturer (1): INA FAG
Manufacturer ref (1): PSHE15
Manufaturer (2): SNR
Manufacturer ref (2): ESPAE202
COMPONENT STATUS : TOLERATED


	Snímek 1
	Snímek 2
	Snímek 3

